Acct. 200 ~ Sample Test for Midterm 2

1.
Using a perpetual inventory system, the entry to record the purchase of merchandise on account involves a:


a.
debit to inventory


b.
debit to accounts payable


c.
credit to inventory


d.
credit to cash

2.
Credit terms are 1/10 n/30 indicates that the buyer is:


a.
allowed a 10% discount if payment is made within 30 days


b.
allowed a 1% discount if payment is made within 10 days


c.
allowed a 1% discount if payment is made within 30 days


d.
allowed a 30% discount if payment is made within 10 days

3.
A company makes a purchase of $2,000 of inventory, subject to credit terms of 3/10 n/45 and returns $500 of inventory prior to payment. What is the amount of the payment assuming payment is made within the discount period?


a.
$1,500


b.
$1,455


c.
$1,440


d.
$1,560

4.
The buyer is responsible for the shipping costs when the shipping terms are:


a.
FOB destination


b.
COD destination


c.
FOB shipping point


d.
COD shipping point

5.
Western Suppliers sold $2,500 of inventory to a customer on account, terms 3/15 n/40. Freight terms were FOB shipping point and freight charges totaled $150. The entry to record the sale would include a:


a.
credit to accounts receivable for $2,425


b.
debit to sales revenue for $2,500


c.
credit to sales revenue for $2,500


d.
debit accounts receivable for $2,575
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 º     Sales revenue                 $ 750,000     º

 º     Freight in                       44,000     º

 º     Beginning inventory              75,000     º

 º     Purchases discounts              20,000     º

 º     Sales returns and allowances     44,000     º

 º     Operating expenses               99,000     º

 º     Ending inventory                 72,000     º

 º     Purchases                       415,000     º

 º     Sales discounts                  25,000     º

 º     William Browning, withdrawals    61,000     º

 º     Purchase returns and allowances  36,000     º
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6.
Refer to Table 3. The total cost of goods available for sale is:


a.
$388,000


b.
$478,000


c.
$470,000


d.
$394,000

7.
Refer to Table 3. The cost of goods sold is:


a.
$470,000


b.
$478,000


c.
$406,000


d.
$351,000

8.
Cost of goods sold is $7,400. Beginning inventory is $3,500 and ending inventory is $4,000. If there is no freight in and total purchases were $8,250, what were purchase returns and allowances?


a.
$850


b.
$500


c.
$350


d.
none of the above

9.
Cost of goods sold is $8,000 greater than net purchases. Beginning inventory is $120,000. What is ending inventory?


a.
$112,000


b.
$128,000


c.
$120,000


d.
none of the above

10.
All of the following are purposes of internal control except to:


a.
safeguard assets


b.
promote operational inefficiency


c.
encourage adherence to company policies


d.
ensure accurate and reliable accounting records

11.
The requirement that a store manager approve all returns of merchandise is an example of which characteristic of internal control:


a.
separation of duties


b.
competent, reliable, and ethical personnel


c.
proper authorization


d.
assignment of responsibilities

12.
Two or more employees working together to defraud a company is referred to as:


a.
team work


b.
collusion


c.
embezzlement


d.
fraud

13.
All of the following are items that cause a difference between the bank balance and the book balance except:


a.
canceled checks


b.
deposits in transit


c.
outstanding checks


d.
NSF checks

14.
A check drawn by the depositor for $2,200 was recorded in the accounting records for $220. On a bank reconciliation:


a.
$1,980 will be added to the book balance


b.
$1,980 will be deducted from the book balance


c.
$1,980 will be added to the bank balance


d.
$1,980 will be deducted from the book balance

15.
The Candy Place received a bank statement showing a balance of $5,350. What is the adjusted balance if there was a bookkeeper error of $200 in the depositor's favor, two outstanding checks totaling $720, a service charge of $15, a deposit in transit of $165, and interest revenue of $21 earned by the depositor?


a.
$4,795


b.
$4,995


c.
$5,016


d.
$4,601

16.
The bank statement lists a $700 deposit as $70. On a bank reconciliation, this will appear as a(n):


a.
addition to the bank balance


b.
deduction from the book balance


c.
addition to the book balance


d.
deduction from the bank balance

17.
A check written for $68.30 in payment of an account was recorded on the books as $86.30. On a bank reconciliation, this will appear as a(n):


a.
addition to the bank balance for $18


b.
deduction from the bank balance for $18


c.
addition to the book balance for $18

d. deduction from the book balance for $18

18.
If the allowance method of accounting for uncollectible receivables is used, what account is credited in the entry to write off a customer's account as uncollectible?


a.
allowance for uncollectible accounts


b.
accounts receivable


c.
uncollectible-account expense


d.
sales returns and allowances

19.
Under the income statement approach, the entry to accrue uncollectible-account expense involves:


a.
a debit to allowance for uncollectible accounts and a credit to uncollectible-account expense


b.
a debit to uncollectible-account expense and a credit to allowance for uncollectible accounts


c.
a debit to uncollectible-account expense and a credit to accounts receivable


d.
a debit to allowance for uncollectible accounts and a credit to accounts receivable

20.
Allowance for uncollectible accounts has a credit balance of $900 at the end of the current year (prior to adjustment). An analysis of the accounts in the customers' ledger indicates uncollectible accounts of $16,000. The adjusting entry would require a debit to:


a.
uncollectible-account expense for $15,100


b.
uncollectible-account expense for $16,900


c.
allowance for uncollectible accounts for $15,100


d.
allowance for uncollectible accounts for $16,900

21.
Mandy Smith's account was written off last year. She owed City Company $5,000. Using the allowance method, the journal entry to reinstate her account involves:


a.
a debit to Smith's account receivable and a credit to uncollectible-account expense


b.
a debit to allowance for uncollectible accounts and a credit to Smith's account receivable


c.
a debit to uncollectible-account expense and a credit to Smith's account receivable


d.
a debit to Smith's account receivable and a credit to allowance for uncollectible accounts

22.
Using the balance sheet approach to estimate uncollectibles, accounts, which are 90 days old, are:


a.
more likely to be collected than accounts 30 days old


b.
equally likely to be collected as accounts 360 days old


c.
less likely to be collected than accounts 30 days old


d.
less likely to be collected than accounts 360 days old
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 ºRingo Company had the following information relating to º

 ºnet credit sales for 20X5:                              º

 º                                                        º

 ºAccounts receivable, Dec. 31, 20X5        $18,000 dr.   º

 ºAllowance for uncollectible accounts,                   º

 ºDec. 31, 20X5, prior to adjustment            600 cr.   º

 ºNet credit sales during 20X5               95,000       º

 ºCollections on account during 20X5         87,000       º

 ºCash sales during 20X5                     27,000       º
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23.
Referring to Table 1, if uncollectible accounts are determined by the aging of receivables method to be $3,040, the uncollectible-account expense for 20X5 would be:


a.
$3,640


b.
$2,440


c.
$3,040


d.
$600

24.
Referring to Table 1, if uncollectible accounts are determined by the aging of receivables to be $3,450, the amount of net accounts receivable after adjusting entries for 20X5 would be:


a.
$13,950


b.
$15,150


c.
$17,400


d.
$14,550
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 ºTurbo Company has an allowance for uncollectible accounts      º

 ºaccount with a $300 credit balance. Net credit sales for the   º

 ºperiod were $180,000. An aging process shows that $4,500       º

 ºof the accounts receivable probably will be uncollectible. In  º

 ºaddition, Turbo believes that 4.5% of all net credit sales are º

 ºuncollectible.                                                 º
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25.
Referring to Table 3, if the aging approach is used to estimated uncollectibles, what is the amount of the adjusting entry to record uncollectible-account expense, and what is the balance in allowance for uncollectible accounts after the adjusting entry is made?


a.
$4,200 and $4,500, respectively


b.
$4,500 and $4,200, respectively


c.
$4,200 and $4,800, respectively


d.
$4,800 and $4,500, respectively

26.
The amount of a note receivable plus the total interest due is referred to as the:


a.
face value of the note


b.
par value of the note


c.
principal value of the note


d.
maturity value of the note

27.
A 60-day, 12% note for $11,000, dated May 15, is received from a customer. The face value of the note is:


a.
$220


b.
$11,220


c.
$10,780


d.
$11,000

28.
A three-month note dated April 8 matures on:


a.
July 7


b.
July 6


c.
July 9


d.
July 8

29.
A 90-day note dated August 26 matures on:


a.
November 24


b.
November 23


c.
November 25


d.
November 26

30.
The interest on a $32,000 note at 9% for three months is:


a.
$1,440


b.
$720


c.
$2,880


d.
none of the above

31.
The maturity value of a note is equal to the:


a.
principal minus total interest due


b.
principal times the interest rate


c.
principal plus total interest due


d.
face value of the note

32.
Eyewear Unlimited has accounts receivable of $16,000 and an allowance for uncollectible accounts with a credit balance of $1,700 before a specific account of $60 is written off. What were net accounts receivable before and after the write off?

   Before     After


a.
$16,000   $14,360


b.
$16,000   $16,000


c.
$14,300   $14,240


d.
$14,300   $14,300

33.
A company has $60,000 in cash, $75,000 in short-term investments, $140,000 in net current receivables, and $145,000 in inventory. The total current liabilities of the firm are $395,000. The acid-test ratio of the company is:


a.
1.06


b.
0.94


c.
0.91


d.
0.70

34.
The _______, a more stringent measure than the current ratio, measures a company's ability to pay its current liabilities.


a.
debt ratio


b.
equity ratio


c.
acid-test ratio


d.
days' sales in receivables

35.
A company has $50,000 in cash, $85,000 in short-term investments, $120,000 in net current receivables, and $145,000 in inventory. The total current liabilities of the firm are $275,000. The acid-test ratio of the company is:


a.
0.93


b.
0.64


c.
1.45


d.
1.76

36.
The acid-test ratio would include in the numerator:


a.
cash, short-term investments and prepaid expenses


b.
inventory, cash and short-term investments


c.
cash, short-term investments, and net current receivables


d.
cash, inventory and prepaid expenses

Table 1
 šÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍÍœ

 ºAssume the following data for Burnette Company for 20X5: º

 º                                                         º

 º     Beginning inventory    10 units at $7 each          º

 º     March 18 purchase      15 units at $9 each          º

 º     June 10 purchase       20 units at $10 each         º

 º     October 30 purchase    12 units at $11 each         º

 º                                                         º

 ºOn December 31, a physical count reveals 15 units in     º

 ºending inventory.                                        º
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37.
Refer to Table 1. Under the LIFO method, ending inventory would be valued at:


a.
$165


b.
$105


c.
$115


d.
$135

38.
Referring to Table 1, under the FIFO method, cost of goods sold on the income statement would be:


a.
$294


b.
$375


c.
$462


d.
$420

39.
Referring to Table 1, under the weighted-average method, cost of goods sold on the income statement would be:


a.
$396


b.
$294


c.
$389


d.
$420

40.
Given the following data, what is the weighted-average cost of ending inventory rounded to the nearest whole dollar?

Sales revenue        100 units at $10 per unit

Beginning inventory   50 units at $ 8 per unit

Purchases             90 units at $ 9 per unit


a.
$400


b.
$360


c.
$346


d.
$1,210
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ºJanuary 1 inventory balance    100 units at $10 per unit º

ºMarch 2 purchase                50 units at $11 per unit º

ºJuly 8 purchase                 80 units at $10 per unit º

ºNovember 15 purchase            30 units at $12 per unit º

ºDecember 31 inventory balance   80 units                 º
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41.
Referring to Table 2, the cost of ending inventory using the LIFO method would be:


a.
$1,910


b.
$860


c.
$800


d.
$850

42.
Referring to Table 2, cost of goods sold calculated under the FIFO method would be:


a.
$1,800


b.
$2,160


c.
$1,910


d.
$1,850

43.
Ending inventory for Commodity X consists of 20 units. Under the FIFO method, the cost of the 20 units is $5 each. Current replacement cost is $4.75 per unit. Using the lower-of-cost-or-market rule to value inventory, the balance sheet would show ending inventory of:


a.
$5.00


b.
$4.75


c.
$95.00


d.
$100.00
44.
If ending inventory for the current period is understated, then owner's equity will be:


a.
overstated at the end of the current period and understated at the end of the next period


b.
understated at the end of the current period and overstated at the end of the next period


c.
overstated at the end of the current period, but it will be correct at the end of the next period


d.
understated at the end of the current period, but it will be correct at the end of the next period

45.
Five hundred acres of land are purchased for $130,000. Additional costs include $5,000 brokerage commission, $10,000 for removal of an old building, $6,000 for paving, and an $800 survey fee. What is the cost of the land?


a.
$155,000


b.
$155,800


c.
$145,800


d.
$135,800

46.
The cost of paving a parking lot should be charged to:


a.
a natural resource


b.
land improvements


c.
land


d.
repairs expense
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 ºOn January 1, 20X5, Button Manufacturing Company             º 

 ºpurchased a machine for $39,980, and expects to use the      º 

 ºmachine a total of 32,000 hours over the next four years.    º 

 ºButton set the residual value on the machine at $3,500.      º 

 ºButton used the machine 6,000 hours in 20X5 and 7,200        º 

 ºhours in 20X6.                                               º
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47.
Referring to Table 1, what is the depreciation expense for 20X5 if Button uses double-declining balance depreciation?


a.
$19,990


b.
$9,995


c.
$18,240


d.
$9,120

48.
Referring to Table 1, what is the depreciation expense in 20X6 if Button uses units-of-production depreciation?


a.
$8,208


b.
$4,500


c.
$6,192


d.
$5,156

49.
Referring to Table 1, what is the depreciation expense in 20X6 if Button uses straight-line depreciation?


a.
$6,875


b.
$13,750


c.
$12,000


d.
$9,120

50.
Referring to Table 1, what is the depreciation expense in 20X6 if Button uses double-declining balance depreciation?


a.
$6,875


b.
$6,000


c.
$9,995


d.
$12,000
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 ºGotcha Company acquired equipment on April 1, 20X7, for   º

 º$300,000. The residual value of the equipment is $30,000  º 

 ºand the estimated life is six years or 120,000 hours.     º
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51.
Referring to Table 3, compute depreciation expense for the year ended December 31, 20X7, if Gotcha Company uses straight-line depreciation.


a.
$45,000


b.
$33,750


c.
$11,250


d.
$37,500

52.
On January 1, 20X5, Bithe Smarney & Co. purchased $35,500 worth of office equipment with an estimated useful life of 7 years and an estimated residual value of $4,000. Bithe Smarney uses the straight-line method of depreciation for all office equipment. At the beginning of 20X8, Bithe Smarney revised its estimate of the useful life of the office equipment to a total of 9 years. The 20X8 depreciation expense is:


a.
$3,000


b.
$3,667


c.
$2,444


d.
$2,000

53.
Westchester Enterprises sold some fully depreciated equipment for $2,700 cash. The equipment had been purchased for $26,500 and Westchester had estimated useful life at eight years and residual value at $3,500. The journal entry to record the sale of the equipment is:


a.
   Cash                         2,700

        Equipment                         2,700


b.
   Cash                         2,700

   Accum. Depn.-Equipment      23,000

   Loss on Sale of Equipment      800

        Equipment                        26,500


c.
   Cash                         2,700

   Loss on Sale of Equipment      800

        Equipment                         3,500


d.
   Cash                         2,700

   Accum. Depn.-Equipment      23,800

        Equipment                        26,500

54.
Century Company sold an old copy machine for $3,200. The old copy machine cost $9,000 and had accumulated depreciation totaling $6,500. The entry to record the sale is:


a.
   Cash                                 3,200

   Accum. Depn.-Office Equip.           6,500

        Office Equipment                         9,000

        Gain on Sale of Office Equip.              700


b.
   Cash                                 3,200

   Loss on Sale of Office Equip.        5,800

        Office Equipment                         9,000


c.
   Cash                                 3,200

   Accum. Depn.-Office Equip.           6,500

        Office Equipment                         9,700


d.
   none of the above

55.
All of the following are payroll taxes that are expenses of the employer except:


a.
FICA taxes


b.
employee income taxes


c.
state unemployment taxes


d.
federal unemployment taxes

56.
The entry to record salary expense includes a:


a.
debit to salary payable to employees


b.
debit to FICA tax expense


c.
credit to employee income tax payable


d.
credit to federal unemployment tax payable

57.
Current liabilities on the balance sheet would include all of the following except:


a.
earned revenues


b.
estimated liabilities


c.
accrued expenses


d.
unearned revenues

58.
Sales tax expense would appear:


a.
there is no such account as sales tax expense


b.
on the income statement as an expense


c.
on the balance sheet as a current liability


d.
on the balance sheet as a long-term liability

59.
Several years ago, Bee Corporation issued $400,000, 10% bonds for $380,000. The balance in the discount on bonds payable account at the end of the current year is $8,000. The balance sheet for the current year would show a net liability of:


a.
$408,000


b.
$380,000


c.
$388,000


d.
$392,000

60.
Several years ago, Bee Corporation issued $400,000, 10% bonds for $430,000. The balance in the premium on bonds payable account at the end of the current year is $18,000. The balance sheet for the current year would show a net liability of:


a.
$418,000


b.
$412,000


c.
$448,000


d.
$382,000

61.
The rate of interest to be paid in cash to the bondholder is the:


a.
effective rate


b.
market rate


c.
contract rate


d.
commercial rate

62.
If the effective rate is 10% and the contract rate is 8%, the bond will sell at:


a.
a discount


b.
a premium


c.
par


d.
face

63.
All of the following are advantages of issuing stock except:


a.
it is less risky to the issuing corporation


b.
it creates no liabilities


c.
generally results in higher earnings per share


d.
creates no interest expense which must be paid

64.
All of the following are advantages of issuing bonds except:


a.
does not dilute control of the corporation


b.
interest expense is tax deductible


c.
generally results in higher earnings per share


d.
less risky to the issuing corporation

65.
Following is a random list of some of the accounts and their December 31, 20X5, balances for J. Paul Leather Company. J. Paul Leather uses a periodic inventory system and all account balances are normal.

            Purchases                        $330,000

            Sales revenue                     470,000

            Interest revenue                   23,000

            Salary expense                     45,000

            Freight in                         17,000

            Purchase discounts                 31,000

            Sales returns and allowances       40,000

            Interest expense                   18,000

            Delivery expense                   24,000

            Sales discounts                    27,000

            Insurance expense                  16,000

            Purchase returns and allowances    49,000

            J. Paul, capital                   35,000

            Utilities expense                  14,000

            Depreciation expense-equipment     10,000

            J. Paul, withdrawals               18,000

The beginning and ending amounts for inventory are $58,000 and $65,000, respectively.

Calculate the following for J. Paul Leather Company:

Net sales revenue                $__________

Net purchases                    $__________

Cost of goods available for sale $__________

Cost of goods sold               $__________

Gross margin                     $__________

Operating income                 $__________

Net income                       $__________

66.
The following information is available for Blue Moon Company regarding its June 30, 20X5, bank statement:

ú Balance per bank statement is $10,300.34.

ú Balance per books is $9,652.78.

ú Check #506 for $1,948.52 and check #510 for $1,600.25 were not

  returned with the June 30 bank statement.

ú A deposit in transit of $4,562.21 had not been received by the bank

  when the bank statement was generated.

ú A bank debit memo indicated an NSF check written by Bruce Garrett to

  Blue Moon Company on June 13 for $279.

ú A bank credit memo indicated a bank collection of $1,900 and

  interest revenue of $75 on June 20.

ú The bank statement indicated service charges of $35.

Prepare a bank reconciliation for Blue Moon Company dated June 30, 20X5.

67.
State which inventory method would best meet the specific goal of management stated below. Show your answer by inserting the proper letter beside each statement.

a) FIFO

b) LIFO

c) Specific unit cost

d) Weighted-average

________ 1) Management desires to properly match cost of goods sold

            with net sales revenue.

________ 2) Management desires to minimize the company's ending

            inventory balance during a period of falling prices.

________ 3) The company sells rare, antique items.

________ 4) Management desires to show the current value inventory on

            the balance sheet.

________ 5) Management desires to minimize the company's tax liability

            during a period of rising prices.

